
QUIZ 3     MATH 161    THOMPSON 

 

 

 

 

 

 

 

          4(x+h)2 +2(x+h) – 4 

         4(x2+ 2xh +h)2 +2(x+h) – 4 

     

 

 

    (x+h)2 – 8(x+h) + 1 –(x2 – 8x + 1) 

    x2 +2xh + h2 – 8x – 8h + 1  - x2 + 8x – 1 

    
2𝑥ℎ+ℎ2−8ℎ

ℎ
 = 2x + h - 8 

 

 

 

 

 



 

   Slope is zero for y  =1 

 

 

 

      

      

 

     -6x = 36 then x = -6 

 

     6y = 36 then y = 6 

 

 

      x -2, 2 

 

 

 

        y – 0 = -8(x + 4) 

        y = -8x - 32 



 

 

 

 

 

            Use y 

 

 

 

 

 

 

 

 

 

Find x and y intercepts: 4x2 + 16y2 = 64 

  Set y = 0 to find x   4x2 = 64    x2 = 16    x = -4,4 

  Set x = 0 to find x   16y2 = 64    y2 = 4    y = -2,2 

    (-4,0),(4,0),(0,2),(0,-2) 

 

 



 

 

 

 

 

 

 

 

          4x2 – x = 0     { -3 cancels} 

          x(4x-1)=0 

    Factor original     

 

 

 

 

 

 

 

 

 

         4(x+h)2 +4(x+h) – 3 

         4(x2+ 2xh +h)2 +4(x+h) – 3 


